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Part 1. Listening Comprehension

Unit 1

Section A

Directions: In this section you will hear 10 short conversa-
tions. At the end of each conversation, a question
will be asked about what was said. Both the con-
versation and the question will be spoken only
once. After each question there will be a pause.
During the pause, you must read the four suggest-
ed answers marked A), B), C) and D), and de-
cide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a sin-
gle line through the centre.

Example; You will hear;
You will read: A) 2 hours
B) 3 hours:
C) 4 hours
D) 5 hours

From the conversation we know that the two are
talking about some work they will start at-9
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o’clock in the morning and have to finish at 2 in
the afternoon. Therefore, D) “5 hours” is the
correct answer. You should choose [ D _ on the
Answer Sheet and mark it with a single line
through the centre.

Sample Answer [A] [B] [C][B]

. A) In bed. C) At home.
B) At work. D) In a post office.

. A) Monday, Wednesday. and Friday.
B) Tuesday and Thursday.

C) Sat+ rday and Sunday.

D) Tuesday and Saturday.

. A) A broken watch. C) Arthur’s running. by
B) Watching Park Avenue. D) The reasonable prices.

. A) The vacation has been too long.
B) The lady smells musty.

C) The lady smells something musty.
D) The windows are inspected.

. A) In a bank. C) In a private house.
" B) In a department store. D) In a bookstore.

. A) She liked the movie.

B) She didn’t like it because it was violent. Cym ot
C) She thought it was too long. :

D) She thought it was boring.

. A) Because he likes painting and doing repairs.
B) Because he likes to relax.
C) Because he is too tired to go fishing.
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D) Because he has no other time to do it.

8. A) She can teach the man to use the machine.
B) She will make copies for the man.
C) The man shouldn’t make any more copies.
D) The clerk doesn’t want to be bothered.

9. A) The man was late.
B) The man reminded the woman to take the book.
C) The woman forgot to take the book.
D) Mary came to talk to the woman.

10. A) He is fine. C) He is terrible.
B) He is confused. D) He is happy.
Section B

Directions: In this section, you will hear 3 short passages. At
the end of each passage, you will hear some ques-
tions. Both the passage and the questions will be spo-
ken only once. After you hear a question, you must
choose the best answer from the four choices marked
A), B), C) and D). Then mark the corresponding
letter on the Answer Sheet with a single line through
the centre.

Passage 1
Questions 11 to 13 are based on the passage you have just heard.

11. A) Don’t judge a book by its cover.
B) Don’t judge a person’s intelligence by appearances.
C) People may fool you by putting up a good front.
D) Make sure you know someone well before criticizing him.



12. A) He was stupid.
B) He was successful with girls.

C) He was a talented writer.
D) He had many faults.

13. A) It comes from the testimony of his teachers.
B) It comes from the grades he gets in school.
C) It comes from how he behaves in different situations.
D) It comes from his ocutward appearance.

Passage 2
Questions 14 to 17 are based on the passage you have just heard.

“.14. A) He went there to get a little exercise.

B) He went there to take in some fresh air.

C) He went there to visit the rich owner.

D) He went there hoping to get something to eat.

15. A) He went up and greeted him.
B) He didn’t know what to do.
C) He tried to avoid meeting him.
D) He hurried off.

16. A) Pat’s funny looks.
B) Pat’s interesting remarks.
C) Pat’s quick and witty response.
D) Pat’s promise to leave right away.

17. A) Lord Northwood ordered Pat out of the wood.
B) Lord Northwood warned Pat against shooting.
C) Lord Northwood asked Pat to join them.
D) Lord Northwood left Pat alone in the wood.

Passage 3
4



Questions 18 to 20 are based on the passage you have just heard.

18. A) One of the great mysteries of nature.
B) Electricity high above the earth.
C) A kind of light.
D) The sound from the clouds.

19. A) Every person can see lightning every day.
B) At least one person is killed by lightning every day.
C) There are about 6 million flashes of lightning per year.
D) About one person per day dies from lightning.

20. A) To stay in a closed car.
B) To stand under a tree.
C) To go outside.
D) To stop near windows.



Unit 2

Section A
Directions: (omitted)

1.

A) German.
B) Italian.

A) In a bathroom.
B) On a stage.

. A) The noise in the library.

B) The crowded room.
C) The heat in the office.
D) The disturbed sleep.

A) He was speeding.

B) He went through a stop sign.

C) He hit another car.
D) He ran a red light.

. A) He will give a speech.

B) He will see the dentist.

C) He will attend a meeting.
D) He will take the day off.

A) On Monday.
B) On Tuesday.

C) Japanese.
D) Chinese.

C) At a swimming-pool.
D) On a sportsground.

C) On Wednesday.
D) On Thursday.



7. .er works in a factory.
L. veter has always wanted to play football.
C) Peter and his wife will go to the football game.
D) Peter will work at night.

8. A) worried. C) Unbhappy.
B) Indifferent. D) Sorry.

9. A) He got angry with his boss.
B) He always got to work late.
C) He was frequently sick and absent from work.
D) He prepared a financial report incorrectly.

10. A) The increasing number of cars.
B) The price of gas.
C) The cost of repairing cars,
D) The poor quality of certain cars.

Section B
Directions ; (omitted)

Passage 1
Questions 11 to 13 are based on the passage you have just heard.

11. A) The World Health Organization says people are starving.
B) There is enough food for everyone.
C) People’s eating habits are one of the causes of the world-
wide food problem.
D) Scientists are making food from fish meal.

12. A) Because cows roam the streets.
B) Because they are East Indians.
C) Because they don’t like beef.



D) Because their religion forbids it.

13. A) They are the main cause of the world-wide food problem.
B) They are the bad quality of the world-wide food problem.
C) They are at the low level of the world-wide food prob-
lem.
D) They are the less important factor of the world-wide
problem.
Passage 2 ‘
Questions 14 to 17 are based on the passage you have just heard.

14. A) Average tuition costs increased by 9 percent.
B) Average tuition costs increased by 15 percent.
C) Average tuition costs increased by 90 percent.
D) Average tuition costs increased by 150 percent.

15. A) By $150 C) By $3,150
B) By $2,150 D) By $5,350

16. A) That they must pay more than out-of-state students..
B) That only a few are accepted.
C) That they are not eligible for scholarships at state univer-
sities. ' 5
D) That their scholarships are very small.

17. A) Better than it was last year.
"~ +B) Not:as good as it was in 1960.
C) Especially good for graduates in liberal arts.
D) Not very good for recent graduates.

Passage 3
Questions 18 to 20 are based on the passage you have just heard



18. A) Wherever travelers go, cameras are sure to follow.
B) It’s great fun to relive a trip by showing slides to friends
and relatives.
C) A nation lives in its people as well as in its landmarks.
D) Anyone can take interesting pictures if he will look be-
yond the obvious.

19. A) People generally admire great landmarks.
B) People generally enjoy pictures of relatives.
C) People are generally bored with familiar sights.
D) People generally dislike the unexpected.

20. A) Wisdom. C) Good breeding.
B) Originality. D) Intelligence.



Unit 3

Section A
Directions ; (omitted)

1. A) She can only use the dictionary in the library.
B) She can use the dictionary as long as she likes.
C) She gets one for herself.

D) She can take one out.

2. A) Under the tree. C) On the sand.
B) Near the water. D) In the sun.

3. A) He can speak only English.
B) He can speak only French.
C) He can speak French and English.
D) He can speak several languages.

4. A) Lose another five pounds.
B) Gain ten more pounds.
C) Buy some new clothes.
D) Be gald she gained weight.

5. A) Because it rained on the way to the airport.
B) Because her suitcase was too full.
C) Because the umbrella was too long to fit in the suitcase.
D) Because she forgot to put it in before they boarded the
plane.

6. A) They are living in Alaska.
B) They have visited their daughter recently.
C) They are planning to go to Alaska.
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D) Their daughter is a college student.

7‘. A) Three years ago. C) This year.

B) Last year. D) During Decemt r.
8. A) $35 C) 870

B) $50 D) $100
9. A) After Christmas holidays.

B) During the Christmas season.
C) During a sale.
D) In the spring.

10. A) The woman will arrive at the restaurant ten minutes lat-

er.

B) The woman has ten minutes to get to the restaurant.

C) The man thinks he will be able to reach the restaurant in
ten minutes.

D) The man thinks he will not be able to drive to the restau-
rant in ten minutes.

Section B
Directions : (omitted)

Passage 1
Questions 11 to 13 are based on the passage you have just heard.

11.

A) An American Abroad.

B) A Trunk of Souvenirs.

C) A Valuable Stamp.

D) The Grandson’s Good Luck.

12. A) He was pressed for time.
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